

Calculus E(θ)

$$r = \frac{a(1-e^1)}{1+e \cos \theta}$$

$$r = \frac{2\pi}{T} a \times (\theta) \quad \text{arc} \quad X(\theta) = \left( \frac{1+2e \cos \theta + e^2}{1-e^2} \right)^{1/2} = \frac{dl}{dr}$$

$$dl^2 = dx^2 + dy^2 = (r^2 + r'^2) d\theta^2$$

$$dl = (r^2 + r'^2)^{1/2} d\theta = \left( r^2 + r^2 \frac{e^2 \sin^2 \theta}{(1+e \cos \theta)^2} \right)^{1/2} d\theta$$

$$dl = r \left( 1 + \frac{e^2 \sin^2 \theta}{(1+e \cos \theta)^2} \right)^{1/2} = r \frac{(1+e^2 \cos^2 \theta + 2e \cos \theta + e^2 \sin^2 \theta)^{1/2}}{(1+e \cos \theta)}$$

$$dl = r \frac{(1+2e \cos \theta + e^2)^{1/2}}{(1+e \cos \theta)} \quad d\theta$$

$$dl = \frac{dl}{r} = r \frac{(1+2e \cos \theta + e^2)^{1/2}}{(1+e \cos \theta)} \cdot \frac{1}{\frac{2\pi}{T} a \frac{(1+2e \cos \theta + e^2)^{1/2}}{(1-e^2)^{1/2}}} \quad d\theta$$

$$dl = \frac{T}{2\pi} \cdot \frac{r}{a} \cdot \frac{(1-e^2)^{1/2}}{(1+e \cos \theta)} = \frac{T}{2\pi} \frac{a(1-e^2)^{1/2}}{(1+e \cos \theta)} \cdot \frac{1}{a} \cdot \frac{(1-e^2)^{1/2}}{(1+e \cos \theta)} \quad d\theta$$

$$dl = \left( \frac{T}{2\pi} \right) \frac{(1-e^2)^{3/2}}{(1+e \cos \theta)^2} \quad d\theta$$

$$\text{for } e < 1 \quad dl = \left( \frac{T}{2\pi} \right) (1+e \cos \theta)^{-2} d\theta \neq \left( \frac{T}{2\pi} \right) (1-2e \cos \theta) d\theta$$

$$L = \int_0^\theta dl = \frac{T}{2\pi} \left[ \theta - 2e \sin \theta \right] \quad \left\{ \begin{array}{ll} \theta = 0 & L = 0 \\ \theta = \pi & L = \frac{T}{2} \quad (\text{or}) \end{array} \right.$$

$$L = \left( \frac{T}{2\pi} \right) (1-e^2)^{3/2} \int_0^\theta \frac{1}{(1+e \cos \theta)^2} d\theta = \left( \frac{T}{2\pi} \right) (1-e^2)^{3/2} \cdot I$$